BAEEFNANER ERE2023F481H&LY)

EAGERM | EXERAM RN
X §j\ (BRI DE) | EREIZDE) (1R IzD=)
EEMN ZEums
RE 41
PRFATAR—YIHEAT 5B iﬂnﬁ S60F31 1.120F]
FIR&E i 1,120/ 2240M
ABH % (XEHEMIERT 258 REES | 11201 2,240
1%?&% (BRMXE. ERZBMELEWNEGE) ;ﬁ%/ 2240M| 4,480H
¥ FRUADSE REEHE ] 2.040M| 4.480M % 5 ¥1350M
A —f#% | 4480F| 8960M| 3z | 1/2m%T 180M
s RE 1/4/4T 90H
it FRFIT ARV IS BHE iﬂ%ﬁ 1.680H| 3,360H %
pp—— i 3,360M| 6,720 i
A% [EHEMIERY 554 RE£H | 3360 6,720H RS
ﬁillg;i;é (BRI EREEMELEVNES) | —# 6,720 | 13,440M [
|%== 4 ’_)
FELADES REEH| 6,720/ 13,440H it
—# | 13440M| 26,880M| &
. REEE
SH(1B(2D%) —-=Sofl, 100M) A&
— 1003  200M =
o - RE LA
INFEVRU(TEIZDE) = 70F| 140F3) - 130
— 140| 280M| @
. . REERE 2
= IRL—FR— L (1EIZDE) = 140 280M1
EEF —# 280F|  560M| o
. . REEE
= INREyhR—)L(1EIZDE) — 2208, 4408 ;&u
— 430F3|  860F3| 4
o REEE
TYRFIL(EES) — 22001 440R3) 240
— 430M|  860M| 7=
e " REELRE -
NURE—IL(ES) —— 2200, WOR g
i 430  860F| &
s RELH 100|  200M| ¢
2 B Bk 15
— 190M| 3som| *
1t s REERE 140 280
2]
ﬁ% — 140M|  280M
& — 3 RELH 140M|  280M
= ART—V -
— 270 |  540H
R RE£HE
ho—=o s E - 50/  100F
— 100/|  200M
. Fm 750M
- 10 "
a; A E 1,500H
= o Fm| 450/
HIIE 900/

KENR -REBE-BEREOAEREAK. BILEL




